Representations of data - Answers
June 2017 Mathematics Advanced Paper 1: Statistics and Mechanics 1
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(¢) | Mean ~ median so distribution is symmetric (no skew or very little skew) Blft
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MIfor a correct calculation of areas 1 cm” = 2 offices (0.¢.)
Al forh=15cm (Correct answer only 2/2)

MI  for a correct expression without end point. Allow “n + 1750 e.g. (45)+2x5
Al ford9 or, if (n-+ 1) used, allow 49.1 (Correct answer of 49 only 2/2)

M1 for an attempt at 222 with at least 3 correct products of Yy or 4000< Y £ £5000
Al for 49.11 (Allow 49.1 from correct working) (Correct answer only 2/2, 49.1 only MIA0)

M1 fora correct expression including /. ft their mean. ~ Allow use of s
Al forawrt 10.3 Allow s = awrt 10.4 if clearly used. [NB use of 9.1 gives 10.389 = A0
(Correct answer of 10.3 with no working is 2/2)

BIfi for reason and “symmetric” (or other correct) statement [Allow positive skew]
Allow ft of their (b) and their (c). For “symmetric” need [ ~0,| <1 “correlation” is B0

BIft  Suggest normal is or isn’t suitable with suitable reason based on (€) or mean and med

M1 for stand’ing using “c”, 50 and 10 and setting equal to + = value where 0.84 <z <0.85
BI for using 2 = + 0.8416 or better (calc gives 0.8416212...) in standard’ attempt e.g. Ji for 10
Al _for awrt 58.4 (accept 3sf here) (Ans only of awrt 58.4 is MIBOAT but 58.416 or better is 3/3)





